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2. Coding Rangkaian
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.int S1 =0, S2 =0, S3 =
.int flagl = o0, flag2 = 0;

#include <Servo.h>
#include <Wire.h>
#include <LiquidCrystal I2C.h>

// Adjust the parameters for a 16x2 LCD
LiquidCrystal I2C lcd(©x27, 16, 2);

Servo myservo;

.#define ir_enter 2
.#define ir_back 4

.#define ir_carl 5
.#define ir_car2 6
.#define ir_car3 7
.#define ir_car4 8

9, S4 = 0;
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20.int slot = 4;
21.
.void setup() {
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.void loop() {

51

52.

53.

54.

lcd

55.

56.
57.
58.
59.

60.

61.
62.
63.

64.

65.
66.

lcd

lcd.
delay(5000);

lcd.
lcd.
lcd.
lcd.

lcd.

lcd.
lcd.

lcd.

Serial.begin(9609);

pinMode(ir_carl, INPUT);
pinMode(ir_car2, INPUT);
pinMode(ir_car3, INPUT);
pinMode(ir_car4, INPUT);

pinMode(ir_enter, INPUT);
pinMode(ir_back, INPUT);

myservo.attach(3);
myservo.write(90);

// Initialize the LCD for a 16x2 display
lcd.
lcd.
lcd.
lcd.

begin(16, 2);

init();

setCursor(0, 0);

print(" Selamat Datang ");
.setCursor(e, 1);

print(" Parkir otomatis ");

Read _Sensor();

total = S1 + S2 + S3 + S4;

slot = slot - total;

Read_Sensor();

.clear(); // Clear the LCD screen

setCursor(0, 90);

print(" parkir: ");
print(slot);
print(" ")

setCursor(o, 1);
print("Ss1i: ");

.setCursor(11, 1);
print("S2: ");
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print((S1 == 1) ? "terisi" : "kosong");
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lcd.print((S2 == 1) ? "terisi" : "kosong");

lcd.setCursor(0, 2);
led.print("s3: ");
lcd.print((S3 == 1) ? "terisi" : "kosong");

lcd.setCursor(11l, 2);
lcd.print("s4: ");
lcd.print((S4 == 1) ? "terisi” : "kosong");

if (digitalRead(ir_enter) == LOW && flagl == 0) {
if (slot > @) {
flagl = 1;
if (flag2 == 0) {
myservo.write(180);
slot = slot - 1;
}
} else {
lcd.clear();
lcd.setCursor(e, 0);
lcd.print(" Sorry Parking Full ");
delay(1500);

if (digitalRead(ir_back) == LOW && flag2 == 0) {
flag2 = 1;
if (flagl == 0) {
myservo.write(180);
slot = slot + 1;

if (flagl == 1 && flag2 == 1) {
delay(1000);
myservo.write(90);
flagl = 0, flag2 = 0;

}

delay(100);
}

void Read_Sensor() {
S1 = digitalRead(ir_carl);

S2 = digitalRead(ir_car2);
S3 = digitalRead(ir_car3);
S4 = digitalRead(ir_car4d);
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114. }
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